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QUESTION 1

Which statement is true about Cisco Mobility Express? 

A. It must be connected to a separate physical wireless controller to provide full enterprise features. 

B. It can be deployed in under 10 minutes with an easy 3-stepover-the-air configuration wizard. 

C. It comes with a simple, easy-to-use vManage dashboard. 

D. Customers must purchase a license to support more than 50 APs. 

Correct Answer: B 

 

 

QUESTION 2

What is the interface used to access the Cisco Meraki Dashboard? 

A. Web browser 

B. Terminal (Mac) or Command Prompt (Windows) 

C. Cisco lOS command line interface (CLl) 

D. Secure Shell (SSH) 

Correct Answer: A 

 

 

QUESTION 3

Which of these statements clearly depicts increasing sophistication in the security threat landscape? 

A. 65% of attacks evade existing security tools 

B. 66% of connected devices are mobile 

C. 28% of top security constraints are caused by product compatibility 

D. 25% of users spend their worktime off network 

Correct Answer: A 
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QUESTION 4

Which approach describes the high-velocity Cisco Meraki sales cycle? 

A. See, Try, Buy 

B. Compete, Pilot, Support 

C. POC, QandA, Rollout 

D. Discover, Design, Demo 

Correct Answer: A 

 

 

QUESTION 5

Which product is considered part of the Cisco Meraki full stack? 

A. UCS servers 

B. MR wireless access points 

C. Aironet wireless access points 

D. Catalyst switches 

Correct Answer: B 
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